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Basic Science (Applied Mechanics) 1A (APMCIAL)

QUESTION 1 [10]

Calculate the magnitude and direction of reactions at A and C of the truss in the following
figure.

(10)
Figure Q1
QUESTION 2[10]

Determine the forces in cables AB and AC necessary to support the weight 500 N.

(10)

Figure Q2



Basic Science (Applied Mechanics) 1A (APMCIAL)

QUESTION 3 [10]

Determine the force in each member of the truss in Figure Q3. Indicate whether the member
is in Tension or Compression.
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Figure Q3

QUESTION 4 [10]

A Reavaya bus starts from rest and accelerates uniformly over a distance of 500 m, reaching
a speed of 100 km/hr. This speed is maintained until the bus brakes and stops 15 km from the
starting point. If the total time taken is 11 minutes:

(a) Draw a velocity time graph (3)
(b) Find the magnitude of the deceleration and the distance travelled at full speed. (7

QUESTION 5 [15]

Determine the centre of gravity of the lamina shown in Figure Q5. (Use point B as a
reference point.)
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Figure Q5

(15)



Basic Science (Applied Mechanics) 1A (APMCIAL)

QUESTION 6 [15]

Find the largest force P for which A in the figure will not slide on B.

g == fL7
20 kg

(15)

Figure Q6
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Formula sheet

Centroids of regular areas
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Basic Science (Applied Mechanics) 1A (APMCIAL)

Basic equations

average velocity = initial veloc1ty2+ final velocity
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displacement = average velocity x time

s=vxt

change in velocity
time

acceleration =




